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QUESTION 1

A ProxySG is designed to do which of the following? (Choose all that apply)

(@)

Enhance security through authentication, virus scanning, and logging. (b) Increase performance through TCP
optimization, HTTP caching and pipelining. (c) Control content with URL filtering, content stripping, and HTTP header
analysis.

A.

a and b only

B.

b and c only

C.

a and c only

D.

All of the above

Correct Answer: D

QUESTION 2

What are the two types of ProxySG exceptions?
A. Pre-defined and user-defined.

B. Global and local.

C. Notify and trap.

D. Explicit and transparent.

Correct Answer: A

QUESTION 3

From the viewpoint of the ProxySG, a user login consists of which three components? (Select 3)
A. IP address

B. Password

C. Authentication realm
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D. Username
E. User agent

Correct Answer: ACE

QUESTION 4

Which one of the following categorization methods is not covered by ProxySG and Blue Coat WebFilter licenses and
would incur additional costs?

A. SurfControl categorization

B. Local database categorization
C. WebPulse categorization

D. IWF categorization

Correct Answer: C

QUESTION 5

What optional features or licenses must you purchase to enable IPv6 support on the ProxySG?
A. SSL license

B. No special licenses are required

C. IPv6 license

D. None of the above

Correct Answer: B

QUESTION 6

For ProxyClient content filtering to work, the client\\'s computer should be able to do a correct lookup of DNS address
sp.cwfservice.net.

A. True
B. False

Correct Answer: A

QUESTION 7

If the ProxySG is not receiving any power, how does the Management Console indicate this?
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A. By displaying a health status of Critical.
B. The Management Console will not load.
C. By displaying a red power icon at Maintenance > System and Disks > Environment.

Correct Answer: B

QUESTION 8

When a proxy service listener matches incoming client traffic and is set to Bypass, what happens to the traffic?

A. The ProxySG determines whether any other proxy service listeners match the same traffic but are set to Intercept.
B. The ProxySG returns an exception to the client.

C. The ProxySG passes the traffic through to the original destination without additional processing.

D. The ProxySG silently drops the connection.

E. The answer depends on whether the client is using an explicit or transparent proxy connection.

Correct Answer: C

QUESTION 9

Which group of services does not have a specialized proxy and is handled by TCP Tunnel instead?
A.HTTP, HTTPS, FTP

B. SOCKS

C. LDAP, IMAP, SSH

D. QuickTime, Real Audio

E. AOL, MSN IM, Yahoo IM

Correct Answer: E

QUESTION 10

Which of the following statements are true about WCCP? (Choose all that apply)
(@)

WCCP version 1 only redirects traffic based on TCP destination port 80 while WCCP version 2 can redirect more than
just port 80.

(b)
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WCCP version 1 supports only single proxy while WCCP version 2 can support up to 32 proxies in a single service
group.

(©)

WCCP version 1 is the default version supported by ProxySG unless configured otherwise. (d) WCCP version 2 is more
suitable for multiple router deployment as it allows multicast discovery.

A.
a and b only
B.
b and d only
C.
a and d only
D.
a and c only

Correct Answer: C

QUESTION 11
Which of the following are trigger objects in the Visual Policy Management? (Choose all that apply)
(@)

Source Address

(b)

Destination Address
(©)

Time

(d)

Tracking

A.

All of the above

B.

b, c and d only

C.
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a, b and c only
D.
a,cadonly

Correct Answer: C

QUESTION 12

The default policy for ProxySG is DENY. Network administrator creates a VPM policy allowing access to some Web
host only for certain users (see picture).

When installing this policy, ProxySG issues a warning that this rule will be ignored. What change can be applied in order
to fix this?

D Blue Coat Visual Policy Manager (10.100.0.42 - Blue Coat SG210 Series) =10l x|
B b foby fehgader bee e o
B Add Rule | "poeeteRue | | 4 Movelp i & MoveDown | | BB Instal Policy
wgb.ﬁ.cms!.awr{‘l}l
No. Source Destination Service | Time | action | Track | Comment

@ 1wa_Realm:Sunnyvale |52 Destination: google,com: (Domain) Ay Ary Q.ﬂ.hw Naone

s

Sattings retrieved From 9G Applisnce 10.100,0.42

A. Add another rule to the Web Access layer creating an exception for users NOT allowed to access the host.
B. Add another Web Access layer and set its default action to Allow.

C. Add Web Authentication layer with a rule having Force Authenticate action.

D. Add Web content layer with a rule preventing serving content from ProxySG cache to unauthorized users.

Correct Answer: C

QUESTION 13

ProxySG uses a licensed Blue Coat Web Filter (BCWF), and has configured policies for URL categories. ProxySG uses
a DNS server, which for some reason cannot resolve the domain name sp.cwfservice.net anymore. What happens to
the content filtering policy evaluation in this case?

A. Any time when policy evaluation needs to categorize an URL, access to that page is denied.

B. ProxySG always uses whatever action is configured for the System/unavailable category
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C. Policy evaluation is not affected, because ProxySG uses the default IP address of a WebPulse Service Point

D. Policy evaluation is not affected for URLs categorized in the BCWF database, and is evaluated as
System/unavailable for any other URLS.

Correct Answer: B

QUESTION 14

The ProxySG gives you the ability to write policies through.

A. the graphical visual Policy Manager and/or the command-line interface

B. Visual Policy Manager only

C. the graphical visual Policy Manager, the command-line interface and/or imported text file

Correct Answer: C

QUESTION 15

What preconditions should be satisfied in order to do initial configuration from a client computer via the URL
https://proxysg.bluecodt.com:80837? (choose all that apply)

(@)

Client computer should be directly connected to ProxySG with a cross-over cable (b) ProxySG should have a pass-
through card

(©)

ProxySG should be deployed in the bridging mode
A.

a and b only

B.

a and c only

C.

b and c only

D.

All of the above

Correct Answer: B
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